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This paper consists of 100 multiple choice questions (M.C.Q.). All questions are

Compulsory and carry 01 mark each. There is not negative marking.

TE T 0 1 100 SEfrehedr W & | Tft T SAaT € o ek TR 01 379 T 81 T 3 o o 3 el e
SR

Each question has four alternative responses marked (A), (B), (C) and (D). Youhave to choose an appropriate
answer option and mark it on the OMR sheet.

ek 3% oh = Secl forohed (A), (B), (C) T (D) TeT 7T & | 3A7ehi SUZerd Sect fefshed ohT <A1l o 90 T A fehel
FATR|

For marking answers on OMR sheet, follow the detailed instructions given on the

OMR Sheet.
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Use only Blue or Black ball point pen for marking on OMR.
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1. The objective of Environmental studies is?
A. Raising awareness of environmental issues
B. To promote ecologically responsible conduct
C. Establish a society that values environmental ethics.
D. All of the above

TATARUT I ET 3T &7
Q. gTaRoT Gadl 2 & IR H SAETEAT TSTT
Y. aTRfEufa® U O fAFASR 30T A derar ST
T wep AT GATST Y TATTAT AT Y GO A Tdehar &Y FAeca sar ol
SI. W Tt

2. The worst sufferers of environmental destruction are:
A. Rich
B. Moderate class
C. Poor
D. All of the above
JOTaRT faATer O e 3ifde difsd &

T

&t FeTgH gt
. e

&Y. 3Uh g

3. Forest Conservation act was amended in which of the following year?
A. 1952
B. 1963
C. 1988
D. 1978
I WRefur Srfdfgm o fafifed o @ fow au d=mem foar mn ar?

T. 1952
dr. 1963
&Y. 1988
). 1978

4, Which of the following gases are not permitted to release by the Government Prevention
and Control of Pollution Act?
A. Nitrogen Oxide
B. Sulfur Dioxide
C. Carbon monoxide
D. All of the above
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AeATei@d # & ford 319 &1 TXRT UguUT faror ud =07 A fag# gRT Sy
A Y AT T &2

T. ATScIeld 3Taass

. Tom T3 3HTFATSS
Y. P AA IS
Y. 3WH gl

5. The single largest preventable cause of cancer is:
A. Tobacco smoking
B. Alcohol consumption
C. Both (a) and (b)
D. None of the above
T BT THATT HIH IST YHATH 19 HRUT &

T. dFag g

. eRTE &1 Ja

. gt () 3R (&)
&Y. W A T PIS &S

6. Which of the following is the key measure to reduce the number of diarrhea cases?
A. Improved sanitation
B. Food hygiene
C. Safe drinking water
D. All of the above
ST &b HATHel T HEIT DI HH P b [oIT TAFATATET H U it 6T YW 3UTT &2

T. dgR Tl
1. @rT TS dr
Y. R UgeTet
&1, 3WIh gl

1. Hepatitis A is a type of:
A. Water-borne disease
B. Air-borne disease
C. Food contamination
D. Both (a) and (c)

P.T.O.
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Uesicd T Udh UahR &
T. STol-Sffeid AT
Y. arg Sffeld e

Y. @I GeuoT
gr. et (T) 3R (&)

8. An extensive number of chains interlinked in an ecosystem formsa ___ together.
A. Food chain
B. Food web
C. Carbon cycle
D. Nitrogen cycle

Teh UIRTEATART o7 # 3M0H & ST § AU HEIT A HTAT AAP Th __ FaAe
el

T 91 H@ell

G EXGE]

. P Teh

3Y. ATSCIol Ish

9. Which of these elements is considered to be the largest source of commercial energy
consumption in the world?
A. Nuclear
B. Natural gas
C. Oil
D. Coal

I O i 91 dcd [ & araa@Re a1 @ud $T Gad 98T Ad AT ST 62

T. GTATY]

& grepfaas
ar. ad

Y. PRI

10.  Which one of these does NOT refer to the direct use of forest products?
A. Grass for grazing
B. Gums and resins
C. Medicine
D. Bamboo for baskets
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S W P TT T ScUTGT b YcTET STANIT Pl TETHT el BT &7
T.TRA & forv ara
. 7 3R I
. Rafehcar
. PRl & fow arg

11. In which of these following can we find Brackish water ecosystems?
A. Wetlands
B. Streams
C. Deltas
D. Coastal shallows

ST U fordd & @RI STl UTR AT o U7 Hoh! &7
kI TR
&t gRIe
. Seer g
&Y. JET 3T

12. Which drug is associated with the tea or coffee plant source?
A. Camphor
B. Caffeine
C. Thorn Apple
D. Opium Poppy

it T AT T a1 HIHT & G & AT & Feafda 2
T R
& Fh=
Y. e A
&Y. 31 e

13. Which of these is the most naturally occurring and frequent disaster?
A. Tsunami
B. Drought
C. Earthquake
D. Flood

P.T.O.
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STH I i T I TATHTTAR &I T Bl dTell 3R IR-TR @I drell 3TUer &2

T. gaAraT
It g
T, qehy
8. g1e

14.  Which two forms of alcohol do we include in biofuels?
A. Methanol and Ethanol
B. Propanol and Ethanol
C. Propanol and Methanol
D. None of the above

TH oI 34U H 3Tehiedl & fohel a1 ®UT T ATHSA P &7
T. AYAT 3R A4l
& vidarer 3R s9Ater
. gioarer 3R Agate
&, IRk A A IS R

15.  In which of these years was the Forest Conservation Act amended?
A. 1978
B. 1988
C. 1963
D. 1952

s O ford av 3 g<7 TReTT ATATATH A Gy foham I ar?
T. 1978
1. 1988
. 1963
Y. 1952

16.  Which of these are also known as Detrivores?
A. Decomposers
B. Carnivores
C. Herbivores
D. None of the above

s O fordy Sfeare o a1 & ot ST ST 82
T. §ihUIeR
< ATETERY
T, AhTERY
&Y. SWRIeh & A B 8
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17.  Which of these sacred groves acts as the gene bank for various wild plants?
A. Mauhak
B. Deorais
C. Jahera
D. None of these

s O i a1 ufa 3uae RAffee Sorel ulut & forw S d & w9 & P war &?
T Hlgh
GIRCGRIES:
T, S
Y. A T PIS Aw
18.  Hepatitis A is what kind of disease?
A. Food contamination
B. Water-borne disease

C. Air-borne disease
D. Both (A.) and (B.)

ucrsed U fhd UehR hr AT &2
T. AT HquoT
&t STeretfad 9T
A, ag FfAa Qa1
& AR BEEl

19.  What is the largest source of the world's commercial energy consumption?
A. Coal
B. Qil
C. Natural gas
D. Nuclear
s 1 cTaaTRAS Sl WU BT Tad I35 Hld AT 2

T. Il
. del
Y. urepfaes 3
3. IRAT]
20.  How many biodiversity hotspots are there?
A 28
B. 18
C. 32
D. 36
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21.

22.

23.

forae Sta fafaar gieeuic &2
T. 28
dr18
. 32
3. 36

The atmosphere consists of 79% Nitrogen and 21% Oxygen by?
A. Weight
B. Volume
C. Density
D. All of these
AGHSS H 79% ATSEIST TAT 21% HTFHTST &2
T. doled
ot atega
Y. gefca
CIR L |

What type of human activity can lower the atmospheric oxygen content?
A. Deforestation
B. Hunting
C. Mining
D. None of the above
fore UepR 1 AT AfATITY argFHs NI JHTereioTed TTHIUT Dl BH P Fehll &7

T. gt &l hers

&t RIpR

Y. el

&Y. 3P FH J PIS TEl

What is Sustainable Development?
A. Balancing current requirements with those of the future.
B. The advancement of humankind.
C.  Abalance between human wants and the planet's capacity to supply

resources.
D. All the above.
Tdd TIepra FaTE?

T. GAHATA HTAIBATHT T HIATT &Y IMaTBaT3HT 6 T FI i DTl

Y. ATeTa ST T Seefd.

Y. AT IMTIRATIN 3R I7E Hr FETUAT 1 3TYfS A BT &TH7AT & T Al |
&1 SUIh |
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24. Which of these sacred groves serves as a gene repository for a variety of wild

plants?
A. Mauhak
B. Deorais
C. Jahera
D None of these

7 O i 91 ufaT 3uae RAffeeT UeR & St gl & forw S #sR & 9 & FrR ear

&?
T Algh
G R-GRE:]
. S
81 3T A IS G

25. Name the gas that is vital in maintaining atmospheric temperature.
A. Oxygen
B. Carbon Dioxide
C. Nitrogen
None of the above

Wﬂﬂiﬁrmwa’rmdmald FATT IW H Aol &
T. 3T

. I SIS 3HTFATSS

Y. Argere
&Y. ST H A PIS Al

26. Who invented the term "ecosystem"?
A. Odum
B. Clements
C. Arthur G. Tansley
D. None of these

"gTRTEATART T3 2req 1 3NTAThR fohaa fopar?
T 3gA
& FerdicH
. 3R S Seger
SY. A A IS Al
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27.  Name the powerplant that works on the basis of the gravity of earth?
A. Windfarms
B. Geothermal
C. Nuclear Power
D. Hydropower

39 fIgd T 1 ATH TS S YL b TZcdTehy 0T b HTUR UT B HIdT &2
T. 9dd Br
<. agardra
Y. AT ST
8. Selfagd

28.  Why is radiation dangerous?
A. Radiations lead to skin cancer
B. Radiations cause anemia
C. Radiations change body tissues
D. Radiations are not stable

fafoRor W =t &2
U. fafehor & caar R aiaT g
Y. fafeptor @ Tehfdrar e
Y. fafeRtoT AR & Scfep! &l agel 3 &
&), faferor R AT &

29.  All species on earth with each other along with their respective environments
collectively constitute:
A. Biosphere
B. Atmosphere
C. Hydrosphere
D. Lithosphere

gdt OX Y USTTaar 3a-310e gAfaRoT & A1 fHee A §0 8 g ¢
T SladAse
oY araTa’or
1. TS
&1 forehRR
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30.

31.

32.

33.

Headquarter of NEERI is situated at :
(A) Nagpur
(B) Hyderabad
(C) Delhi
(D) Pune

NEERI ST HEATeI F&U &
(V) AT
(&) TeraTe
(&) fereelt

(1) gor

The famous book ‘Diversity of life’ was written by the following:

(@) E.O. Wilson

(b) Alfred Wallace

(c) M. S. Swaminathan
(d) Madhav Gadgil

uflg Q& 'Sige &t fafaudr fAeaferi@d grr fordr 18 2
(T) §.31. faeaa
(&fT) 37eThs aTer
(&) TH. TH. TIHATIA
(3Y) FATIT I faTer

Which of the following is used as biofertilizer?
(a) Rhizobium

(b) Azolla

(c) Blue green algae

(d) All of the above

fAeafaf@a & & forde 3uaier Siasdie & U A fhar ST &2
NRESIIERE]

(&) 31Trer

(&) e &7 Aarer

(D] 3WRI<h G

Water borne disease is:
(a) Arthritis
(b) Malaria
(c) Typhoid
(d) Dengue
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34.

35.

36.

STl AT AT & -
(T) arfsaT

(&) sTerRaT

(&) TTSHISS
(81 397

Biosphere reserves are areas to preserve the following:
(a) Forests

(b) Ecosystem

(c) Biodiversity

(d) Atmospheric balance

IRIHIR Rord et o TRfaTd ol arer 81 &
(T aa

(&) oRTEAfAdr a7

(@) Sta fafaygar

(&) AGHS AT H ol

Primary consumers in a food chain are;
(a) Cattle and rats

(b) Insects and fish

(c) Frogs and rabbits

(d) Cats and cows

g H @l # UrAfHes SUHRH 8
(T) Faeh AR §

(efh) 1S 3R FASR

(&) Fed 3R @Iy

(&) e ik

In India, the best timber producing tree is:
(a) Sal
(b) Mango
(c) Teak

(d) Shisham

HRT H FATIH SHARAT oTehs! UeT el aTell J&T & -
(T) aret

(afT) 31T

() e

(3Y) efer
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37.

38.

39.

40.

Pollutant from motor-car exhaust that causes metal disease is:
(@) Mercury

(b) Lead

(c) Nickel

(d) Zinc

FANEI-BR & YU F fAhele Tl YgVeh ST YT 19T T HROT T & T8 &

(W) Orr

(sfT) =rar

(&) e

EYAEEY

The largest desert of the world is:
(a) Sahara

(b) Gobi
(c) Kalahari
(d) Arabian

IERCEIRELER R SIGES
(V) GERT

COELUEL

(&) PreTerY

(81) 3R

The functional unit of ecology is called:
(a) Biosphere

(b) Biotic and abiotic

(c) Ecosystem

(d) All of the above

qIRTEATART T HrATHD SHTS Hedldl &
(V) ShadAse

(&) Afaew 3R 3w

(&) uriRTEufad a7

(31 ) 3Uh T

Incomplete ecosystem is found in:
(a) Pond

(b) Grassland

(c) Deep Sea

(d) Rivers
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41.

42.

43.

31 TR TEATART JFF urm ST &:
(T) TR

(&) T 1 HAer

(1) I FHg

(&) afear

Plants and animals living in an area constituent:
(a) Population

(b) Community

(c) Ecosystem

(d) Ecology

forel 873 A T&a arel Gl 3R ST g

(T) 3Taner

(&) T

(&) ok eufadr ax
(1) aTRTEAfadT

Which one is an endangered animal?
(@) Chimpanzee

(b) Gorilla

(c) Gibbon

(d) Monkey

<hleT |1 Teh FHUTH STTeTer &2
WIELE

(efY) IReer

(@) Rreaa

(3) T

About 90% of the total biomass produced on the earth is through the following:

(a) Ocean
(b) Forest
(c) Grasslands
(d) Crops

g2 W Scurfed el ATV T SITHIT 90% fAFATI - o FATCIH A BT &

(T) ALTHIR

(s a=

(@) a8 & A
(&) THer
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44,

45.

46.

Which one is concerned with the conservation of forest?

(a) Silent valley

(b) Periyar sanctuary
(c) Girforest

(d) Kaziranga sanctuary

geT TX&T0T ¥ fohdepr gay &2
(T) 7T TTé

(1) INIR HHIRTY

(&) R a1

(3Y) PSR HHIRTY

Bharati Vidyapeeth Institute of Environment Education and Research (BVIEER) is

situated at which place ?
A. Pune

B. Mumbai

C. Delhi

D. Ahmedabad

AR Forardis gafaroT fR1eTr vd srgaure AT (f3msssam) fra sore W fRud & 2

(T) gor

(&) Her$

(&) el

(31) TeACHETG

Lowest layer of atmosphere is called :
A.  Mesosphere

B.  Stratosphere

C.  Troposphere
D.  Thermosphere

argFsd 6 gy ATl Id el & :
(T) AEEHRR

(@) TATPHIRX

(&) aNHAS

(3)) TAEfEPRR
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47.

48.

49.

Where was the first large scale nuclear power plant in the world became operational in
1957 7

A.  Germany

B.  Pennsylvania, US
C. Japan

D. India

1957 # el AT T UgelT I3 UHATE &1 UHTI] Foil HAF el Ao AT AT?
(T) SR

() dfdeafar, g.ua

(&) SITaTA

(1) HR

Where are the Royal Botanical Gardens situated?
A. Mumbai

B. Kolkata

C. Dehradun

D. Chennai

T dicTalhdl IS thal T€Ud &2

(T) S

(&) Prereprar
(E)eeTe
(8)) A=Ts

Which activist"s name is highly associated with the very famous “Chipko Movement” ?

A. Sunderlal Bahugna
B. Salim Ali
C. Mahatma Gandhi

D. Indira Gandhi
fere il &1 ATH cdd Uflg "RAIueh! 3reTere" | =182

(T) GeelTel IgaTom
(&) FeltH 3rell

(&) FAETcAT Iy
() e
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50.

51.

52.

53.

Which layer of the atmosphere contains a layer of sulphates which is important for the
formation of rain ?
A. Mesosphere

B. Troposphere
C. Stratosphere
D. Thermosphere

argFse Y R TR F Tethed A W @i & St auf & fAaToT & o Fgcayef &2

Ecology deals with the study of:
A. Living beings
B. Living and non-living components
C. Reciprocal relationship between living and non-living components
D. Environment

TTRTEATIRY T 31eTTT & AT &:
() Shfad grofr
(&) Shfaa 3R [&sita ges
(@) shifaa 3ikk Fsifa gest & o uReaRe g9y
(&) gaTaRoT
Energy flow in ecosystem is :
A. Unidirectional
B. Bidirectional

C. Multidirectional
D. None of the above

TRAT A ST UaTE & :
(T) ZASTIRFATA
(&) Tgfeemcas
(&) TgfecHR
(&) TH F F PIs Tl

Which of the following is not a gaseous biogeochemical cycle in ecosystem?
A. Nitrogen
B. Carbon
C. Sulphur
D. Phosphorus

P-757 /res-8-10 17
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faFafaf@a # @ wla ar uRfEfad a7 # v Il Sa-q-rarafas @ a8 &2
(T) ATSEISTT
(&) P
() o
(31) FEPRE
54. More than half of the earth"s flora and fauna are found in :
A. Tundra
B. Tropical rain forests

C. Grasslands
D. Chaparral

g2l B 3Teh & 31T aeTeuTeralY wd ofa s R S ¥ -

(T) g1
(&) seuTRfeaeT aut g

(@) T1g & HerT
(3T) TURTT

55. What amount of air does an average human require each day?
A. 10g
B. 10kg
C. 12g
D. 12kg

Teh 3 AT DI gfATe fehetel AT H ar Y I Bl &2
(T) 10 ITH
(&) 10 fomar
(&) 12 I1H
(3Y) 12 fepam

56. Atmosphere contains various layers each having characteristic composition. The correct
sequence starting from earth surface is:
A. Stratosphere-lonosphere-Troposphere
B. Troposphere-lonosphere-Stratosphere
C. lonosphere-Stratosphere-Troposphere
D. Troposphere-Stratosphere-lonosphere

P.T.O.
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argHS H T T Bl & ot @ Ycdeh & fATAE T Bidl & | gl &1 He 0 A&
e aTel el sha &

(T) GAAGHS - TS A& IS of

(@) SNHFASA-ITAASI-THAITUHS A

(@) ITAAST-GATTHSA-&N IS of

() eNFIASA-JHIIHS I-TTHS

57. When was the National River Conservation Plan launched ?
A. 1995
B. 1990
C. 1985
D. 1988

T G TIETOT A1STeAT el Y& Y 375 A2
(T) 1995
(&) 1990
(&) 1985
(31) 1988

58.  Which of the following is not a major green- house gas ?
A. Water vapour
B. Carbon dioxide
C. Ozone
D. Methane

ATl # @ Bl @ yog@ M e138 3 78 &2
(T) STef g
() P B3 TFISS
(&) 3
(1) AT

59. Disaster management includes:
A. Mitigation
B. Reconstruction
C. Rehabilitation
D. All of the above

P.T.O.
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39T yaas & i &
(T) AHT
(&) gaAfATOT

() geraTa
(3T ) Uh gt

60. The Andaman and Nicobar Islands alone have as many as species of flowering plants
and species of ferns.
A. 2200, 120
B. 1500, 135
C. 120, 2200
D. 135, 1500

3Tchel 3T 3R AR T Fagg 3 el & Gt 3R Bt Hr st gonfadl ¢
(T) 2200, 120
(&) 1500, 135
(&) 120, 2200
(31) 135, 1500

61.  Which of the following is known as “flame of the forest?”
A. Butea monosperm
B. Jack fruit
C. Jamun
D. Zizyphus

Aeafoiad & & fopd "SieTer &Y FaTelr” & AT A ST ST 62
(T) ST AAETH
(&) Pegd

(&) STHA
RIEISET:]

62. Which one is the largest group of flowering plants in the world with over 18000 known
species?
A. Quercus
B. Orchids
C. Pine
D. Cycas
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63.

64.

65.

18000 | 31Teh AT Tt & A1 T4 3 GoT arel Uil &1 HaId I2T HHg i AT 87
(T) TFaThd
(&) 3i7fps
GORIES]
BIKIESE]

There are 589 Protected Areas in India of which ............ are National Parks and.........
are Wildlife Sanctuaries ?

A. 189, 400

B. 500, 89

C. 400, 189

D. 89, 500
HRAH 589 TR &1 & oA H ... T 3AT 3R ... TSN THIRTY &2

(T) 189,400
(&) 500, 89
(®Y) 400, 189
(31) 89,500

Which one is the most famous water bird sanctuary in the world?
A. Ranthambor sanctuary
B. Bharatpur sanctuary
C. Manas sanctuary
D. Gir sanctuary
o o1 e uflig STet uatt 3naRug sia arg?

(T) TOTUHR 3THIRTT
(afT)#RAYR 37RO
(&) AT HHIRTY
(31) IR 33y

EIA stands for:
A. Energy Information Administration
B. Environmental Impact Assessment
C. Electronic Industry Association
D. E-Insurance Account

P.T.O.

P-757 /res-8-10 21



SIMST T T E:
(T) ST FIAT ULMHA
(&) TaTaRoi™ geTa 3Mehee

(&) Serareifas 3aeT Tg
BIEEIGIECIG

66. What is Biodiversity?
A. Many type of flora and fauna in one forest
B. Many type of flora and fauna in many forests
C. Many population of one species in one forest
D. All the above are true

Sig Rfavar Farg?
(T) Teh & STl H s UhR Y aediaar AR Sfa-aig
(&) S STl H S YbR & aereufadi 3R Sha-siqg
(&) Teh ST9Tel A Teh YTl T g JTTaTET
@) 3R g T g

67. World Ozone Day is celebrated on:
A. 16th August
B. 16th September
C. 16th October
D. 16th December

T4 3N Tead FATIT AT &
(T) 16 319Ed
(&) 16 AdeX

(&) 16 3TFER
(31) 16 TGHR

68.  GIS stands for:
A. Geographical Information Systems
B. Geographical Information Science
C. Global Imaging System
D. None of the above

SHISTH & 37T &:
(T) HtonTere Fa= gorrelt
(&) FHtanTores Faar fa=ire
(@) TelraeT sAfST e
(&) 3T F A s ol
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69. Environmental Impact Assessment (EIA) is mandatory under which one of the following

India legislations?
(A) Indian Forest Act
(B) Air (Prevention and Control of Pollution) Act
(C)  Wildlife Protection Act
(D)  Environment (Protection) Act

faFafaf@d & 8 fora 7R FIee & ded TATaroT gHTa ATl (3380) 3ifaar &2

(V) AR I 3rfafagA

(elY) ATy, (UquoT T kAT 3R fazTo) srfafagas
(&) gegSig gator Afafags

(&) aTaRoT (TReT0T) SHiEfaH

70.  World Health Day is observed on:
A. 7th March
B. 8rd March
C. T7th April
D. 8th April
T TarEey fead AT AT §:

(T) 7 AT
(&) 8 AT
(&) 7 3t
(&) 8 30A

71.  What is the average surface temperature of earth?
A. 15°C
B. 12°C
C. 8°C
D. 20°C

YT e &1 3T dTIATA fhdar 8T &2
(W) 15°7
(&) 12 3o afcaza
() 8o/
(1) 20 F3of ARy
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72.  The discharge of warm water into a river is usually called a.............
A. Thermal Pollution
B. Water Pollution
C. Soil Pollution
D. None of these

oY 7Y 3 9137 T & BT B HTHAAR TN ... Pl ST &
(W) 3Tt TguoT
(&) STt vreroT
(&) 3geT JeuoT
(&) 373t Y IS TR

73.  Sounds above what level are considered hazardous noise pollution?
A. Above 80 dB
B. Above 150 dB
C. Above 30 dB
D. Above 120 dB

fohd TR A FW Fr €afay Y GeATh Cafdl GeuoT ATAT ST &2
(T) 80 3 4 WX
(&) 150 S & FW
(@) 30 N T FW
&) 120 AN T FW

74.  When huge amount of sewage is dumped into a river, its B.O.D. will ;
A. Slightly decrease
B. Remain unchanged
C. Increase
D. Decrease

ST fordY AEY & 918 AT & HA-STor Yarted fopaT ST & aY 3TehT &Y.310.8Y. 3<aT
(T) 13T e & 3T
(&) 3aRafda @
(@) gfg
(31) Pt
75. Inafood chain of grassland ecosystem the top consumers are:
A. Herbivorous
B. Carnivorous

C. Bacteria
D. Carnivorous and Herbivorous
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TR UTRTEATANT I 1 @ s@er # 2N suHH
(T) RATRTERT
() FATETEY
(&) ST
(&) ATETERY 3R ATRTERY

76. Cold desert in India occurs at :
A. Thar
B. Assam
C. Rajasthan
D. Ladakh

HRA A M ATTTA BT & -
(T) I
(afY) 3rH
(&) TTEATA
(&) er=rE

77. Florais aterm for:
A. Plants
B. Viruses
C. Animals
D. Microbes

FRT Teh Qg %’ :
() gl
(@) ar e
(& gy
() e

78.  The concept of ecological pyramid was developed by :
A. Reiter
B. Elton
C. Odum
D. Darwin

TR e ORI &1 3/auroen fhad grT f[aaiad o1 78 o

(T) T/

(&) Teed

(1) 3ngA
@ srfaa
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79.

80.

81.

82.

First UN conference on Environment was held in:
A. Johannesburg
B. Montreal
C. Stockholm
D. None of these

TATaROT R Ugell G T FFAe ATANToTd fondT I1T T:
(T) SheeaedT
(&) Fifere
(¥ FeTepere
(@ 3 A DI TR

The wind speed is measured by an instrument called :
A. Psychrometer
B. Speedometer
C. Anemometer
D. None of these

g afa forg g AT ST &
(T) ATShIHTEI
(&) T=THeT
(@) TAATHER
(8N) 3T @ IS G
The function of haemoglobin in body is :
A. Transport of Oxygen
B. Destruction of Bacteria

C. Prevention of Anaemia
D. Utilization of Iron

R A FHATA AT BT P & -
(T) ATerreTe o aRaed
(&) SR o1 faarer
(&) T fr pura
(&) 3T T IUTANT

Which country is reported to have highest biological diversity ?

A. Eqcuador
B. India
C. Indonesia
D. Brazil
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83.  Environmental justice is :
A. Implementation of conservation policies in forest areas
B. Sustainable development of tribal population living in the forests
C. Civil rights with environmental protection to demand a safe and healthy
environment for all
D. Conflicts resolution between people and conservationists
TARONT 1T &
(T) T &1 3 HI&TOT AT T hraTeade
(&) STTelt A T arelt 3Mieard HTETE) o1 Hdd Tahra
() Tt & Torw GRiaTd 31} TaEY ardreroT Y AT e & TorT gaTaRor EIaTor &
HIY AR PR

(&) St 3R FeeToTarfet & o Tud THIYE

84.  The ‘Hot Spots’ are the areas of :
A. Hot springs
B. Grasslands
C. High biodiversity under threat
D. Warm Places
B T4’ a7 &
(T) I RS
(&) o9 & Hera
(@) 3=g Sg Rfgar @ay A g
(3Y) I AT

85.  The Wildlife (Protection) Act was enacted in :
A. 1978
B. 1972
C. 1980
D. 1988
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I=gaig (TeToT) Jrfafage rfafaafda fear o ar:
(T) 1978
(&) 1972
(&) 1980
(37) 1988

86. World Biodiversity Day is celebrated annually on :
A. 22 April
B. 16 September
C. 5June
D. 22 May
faar Sta fafayar fgaw ufaay samr srarg:
(T) 22 318er
(&) 16 FdeR
(¥ 5 ST
(&) 22 7%

87. Term ‘Ecosystem’ was coined by the following:
A. Odum
B. Tansley
C. King
D. Ramudar
‘TR FREAfadT a7 e e farfad grT arer a7 2

(1) g
(@) ST
(=) a1

(1) THASR

88.  High amount of E. coli bacteria in water is an indicator of :
A. Hardness of water
B. Industrial pollution
C. Sewage pollution
D. Presence of chlorine in water

ST 3 §. Plems Siaro] At 317 AT TR gad &7
(T) UTiY Y HoRAT
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89.

90.

91.

92.

BOD (Biological Oxygen Demand) in fresh- water should not  exceed beyond
the following :

A. 5 ppm

B. 10 ppm

C. 25 ppm

D. 50 pmm
arel g1t F d30E) (arateifoidd Jiardrere fBams)........... & 1A L1 el Arfeu

(T) 5 drdreH
(&) 10 drdiTH
(&) 25 drdioH
(3Y) 50 g
Which of the following food chain directly depends on solar radiations ?
A. Parasitic food chain
B. Grazing food chain

C. Detritus food chain
D. None of the above

faFafaf@d & & wla O @ g@er S IR fAfeor ) AaR Hdr e?
(V) GRTTEY @ @l
(&) TRTS @I HEell

(&) SCTSTH W 4@l

(&) SRIE F A BIS Te!

Red List of Red Data Book contains information about:
A. Red flowers
B. Red fish
C. Endangered plants and animals
D. All plants and animals

& 32T e 1 33 foree A e & ar #F STery g &
(T) el el
(&) oITel Al
(%) AU WY AR SR
(&) gt ol 3R SR

G. B. Pant National Institute of Himalayan Environment and Sustainable Development
(GBPNIHESD) is located at :

A. Haldwani

B. Kosi-Katarmal

C. Haridwar

D. Dehradun P.T.O.
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SiY. &Y. U U ATt gATeaRoT T Add A AT (GBPNIHESD) Ud &
(T)EcgTal
(&) PrAT-heRAS
(E@meRer
(BN)eeRTeeT

93.  From which plant biodiesel is prepared?
A. Karonj
B. Neem
C. Jatropa
D. Mahwua
IS forg Ui & IR fopar Srar &2
(@) FTT
(&) A
(&) SreraT

(SN)FEG3

94.  ‘Save Narmada Agitation’ is connected to:
A. Medha Patker
B. Arundhiti Roy
C. Baba Amte
D. All of the above

'THET T3 3ol fhad Tafaa &2
(T) AYT UTea
(&) reafa T
(&) aTeT 3T
(D1 3T Tt

95. The largest desert of the world is :
A. Sahara
B. Gobi
C. Kalahari
D. Arabian

IBREIEELER R IRIGES
(V) HERT
COELUEL
(&) PremTerY
(3)) 3R
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96. Tehri dam is constructed on the river:
A. Alaknanda
B. Gangotri
C. Bhagirathi
D. Mandakini

(W) 3TcTeheier
(&) FTamT

(3T) FfR
(3Y) FHeforett

97.  The study of population is called:

A. Demography

B. Biogeography

C. Topography

D. Biography

STTEEIT &l 3CTIA Dhgalldl ¢ :

(T) STAHTTEIHT
CHEIRIPIE

(&) TR
(&) Sat

98.  Carbon dating is used to determine the age of :

A. Rocks
B. Plants
C. Fossils

D. None of the above

el SEaT et ST feharehl 31MY FT TR et o TorT T ST &:

(W) Treer

(<) iy

(&) Sfrares

(&) sTH A Y BIs ol
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99. What is called the biodiversity of different ecosystem of geographical area?
A. Alpha diversity
B. Beta diversity
C. Gamma diversity
D. None of the above

Hionfores 813 & faffeer uRTEATAH a7 6 e fafayar wan Heerd &2
(T) 31ew Tafayar
(&) <freT fafaerar
(@) a1re fafayar
(&) 3URIH F I BIs ol

100. Primary consumers in a food chain are;
A. Cattle and rats
B. Insects and fish
C. Frogs and rabbits
D. Cats and cows

YT 4@l H UrAfHE SUHNH ;
(@) FaLh AR
(eh) 1S 3R AR
(&) FHed R G
@) fafeerar R am
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